N = 0l & At & Ml A

20199 &= =0 & LA O EItE Y

A OIS

Ba: otz=x 53
Sl FHTWS 25 Y CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
&= 38,094,698 35,453,157 2,641,541
= 25,833,858
J| 16,214
Al 10,306, 143
- 1,938,483
HESK A 7,399,389 7,241,790 157,599
= 3,480,141
J| 15,514
Al 3,166,553
- 737,181
LdHBE 23 St 588,573 486,845 101,728
= 173,958
J| 15,514
Al 276,881
- 122,220
A& H38 - J0H0H - 8= g us A 2,700 1,200 1,500
201 et 2,700 1,200 1,500
01 At 2teltl 2,700 1,200 1,500
ougns Utz s JIEHES 200,000& 200
OZAM==E 500,000 *23| 1,000
ZSHSAANNIDESSUNSAAE AE2H &
Al 1,500, 000& 1,500
e @A XI& 9,120 9,120 0
201 L2l 3,820 3,820 0
03 & AL2 I 3,820 3,820 0
OLHBS T2 IS A 1,420
oy 80,000 =4 0H 320
ol 2R, =FH 2,000& *300% 600
ocYMHESRS HE(IH) 100, 000& *50H 500
Oodgd® =X (MM 2 & XH)
2,400,000 2,400
206 M= Hl 2,800 2,800 0
01 =8l 2,800 2,800 0
O&sJIl MASE FEEIERI M=
2,800,000& 2,800
301 gt 4= 2,500 2,500 0
09 HALAHIEA S 2,500 2,500 0
OUMBSF J|EA ST 24
500,000& »2& 1,000
OUMBESFI JHA ALY
500,000& x1H 500
O& AL EItA 24 1,000, 000& 1,000
Hei2 OI2AE SASA ALY 8,000 8,000 0




A OIS

Ha: Jis=x 53
Sl YHBS 23 e (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 8,000 8,000 0
02 PIZHEHAHEE 8,000 8,000 0
O&EH SASAH XA 8,000,000& 8,000
g4=4 NEES 4L 22 AR 114,191 73,690 40,501
2 57,096
Al 57,095
307 glz2+ol & 114,191 73,690 40,501
= 57,096
Al 57,095
10 ALSISXAIEEE2EHEX 114,191 73,690 40,501
OJGtg=gdga 29 114,191,000& 114,191
= 57,096
Al 57,095
JbE =2 Jbohk DRAE Z2IY 2Y 37,000 30,229 6,771
= 25,900
Al 11,100
307 21201 A 37,000 30,229 6,771
= 25,900
Al 11,100
11T AL SXAEE = 37,000 30,229 6,771
ONE=Y Jtol Xt wExzE 2208 2¢
37,000,000& 37,000
= 25,900
Al 11,100
HEZAMHR NBAL SAX XS 7,200 7,200 0
Al 5,400
- 1,800
307 21201 A 7,200 7,200 0
Al 5,400
- 1,800
11T M3 SXAISEEX 7,200 7,200 0
OMEZHUNA XAAE SAX X< X
el 150,000 3« 12& 5,400
Al 5,400
ONEZG 4G A QLA =SXA HRMA
50,000 x3H » 128 1,800
3= HedotEXIdal 29 7,000 7,240 A 240
= 3,500
Al 3,500
201 et 7,000 7,240 A 240
= 3,500
Al 3,500
01 At 22l 7,000 7,240 A 240
Os=2s 1,780,000 1,780
= 890




A OIS

Ha: Jis=x 53
Sl YHBS 23 e CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Al 890
OXNgdl gozA =< 70,0008 x10¥ *13 700
= 350
Al 350
O&dZ= g s 4,000,000& 4,000
= 2,000
Al 2,000
OQZH I EHIIA S2EHl S 520,000& 520
= 260
Al 260
KAAE SXNESE AIHFX 2,500 2,500 0
203 €2 F&d| 2,500 2,500 0
03 AIZH =X 2 F XY 2,500 2,500 0
OXNYAS EXNESE AMFEX 2,500,000 2,500
OSSOt XIS M & K& 600 1,212 ANB612
= 300
Al 300
201 et d| 600 1,212 ANB12
= 300
Al 300
01 AFR 2t 2| H| 600 1,212 AB612
OCHE XIS ME ZAETH(ZTLA, EX2A S)
390,000 *1JH & 390
=2 195
Al 195
OOs8&XAMNE ALK H 2
130,000 * 104 & 130
= 65
Al 65
OJIEt =2H| 80,000 = 1JH A&~ 80
= 40
Al 40
yHBSAAS =29 1,400 1,400 0
201 LBt 1,400 1,400 0
01 AP 22| H| 1,400 1,400 0
OLdHdHESAA]Z A=Y 70,0008 x10H *x23] 1,400
HAEZRSEZA =M 6,700 6,500 200
201 gEt24Ay| 6,700 6,500 200
01 AP 22| d| 4,000 4,000 0
OWARSIEA M3 =& 3,000,000& 3,000
OWHEESTIZA FUNEHEX 29Y
1,000,000 1,000
03 HAI2 G HI 2,700 2,500 200
OWAZRSEA BHESIE A2 (TS
s) 2,700,000 2,700

_3_




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SHRR2IIEXH WsSHl - &35 N& 36,744 56,000 A 19,256
Al 36,744
301 gt d= 36,744 56,000 A 19,256
Al 36,744
01 Ml2ZE 6= 36,744 56,000 A 19,256
OR2IIEXE nEYl - st83H X
36,744,000 36,744
Al 36,744
HFAHSED Ots2=sHl XA 3,321 2,636 685
= 2,657
Al 664
301 LA Z 3,321 2,636 685
= 2,657
Al 664
01 Mel28HE 6= 3,321 2,636 685
OFAUEEIRE2 Ot L=l 3,321,000& 3,321
= 2,657
Al 664
BHEDIE REASH S X 105,631 91,214 14,417
- 84,505
Al 21,126
301 LEtE A= 105,631 91,214 14,417
= 84,505
Al 21,126
01 MEIEBEZE 45z 105,631 91,214 14,417
OstE2IIE IHLsH S XA
105,631,000& 105,631
= 84,505
Al 21,126
SHEEIEXEH WEd XA 10,000 10,000 0
Al 10,000
301 gt 4= 10,000 10,000 0
Al 10,000
01 MEI2EZE+05l= 10,000 10,000 0
Ost=2 2= XHH =l 10,000, 000& 10,000
Al 10,000
saNE 22 22,162 22,162 0
J| 15,514
Al 6,648
307 glz2+ol & 22,162 22,162 0
J| 15,514
Al 6,648
05 RIZt2IEt = 22,162 22,162 0
Ogt=0us 24712 XA 22,162,000 22,162
J| 15,514




2N

Ba: otz=x 53
©R: YHBS 25 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

| Al 6,648

SN2 NSAY 80,000 48,000 32,000
Al 80,000

301 Bt A= 80,000 48,000 32,000
Al 80,000

01 M BEEE2G2 80,000 48,000 32,000
OsdXaa XA 80,000,000 80,000
Al 80,000

SMEAZS X3AE 90,000 90,000 0

301 dEtEAZ 90,000 90,000 0

01 AL 2 & & 2352 90,000 90,000 0
Osd&EHAZ2 X 90,000
oc=MOot SMEHAZ 52,000,000& 52,000
oAITHOF SMEHZ 38,000,000 38,000

EMEE XNEAY 24,000 18,542 5,458
Al 24,000

301 dEtE A= 24,000 18,542 5,458
Al 24,000

01 AL B & X £33 24,000 18,542 5,458
Osngs N3 24,000,000& 24,000
Al 24,000

880 gs=xs=2 XA 20,304 0 20,304
Al 20,304

301 dEtE A= 20,304 0 20,304
Al 20,304

01 MSIEEE G2 20,304 0 20,304
Ox&8&n Ygst=dt=2 X2 20,304,000& 20,304
Al 20,304

SaF g4 6,810,816 6,754,945 55,871
= 3,306, 183
Al 2,889,672
- 614,961

25 X2 62,180 62,180 0

201 Bt A | 1,680 1,680 0

01 AFR2 22l Yl 1,680 1,680 0

OESEUAAS soassy

70,000& x12Y 23| 1,680

307 212t01 & 60,500 60,500 0

10 Al SXAIEEE2IHIEX 60,500 60,500 0
ONE0l& ¢ - eHl K& 15,500, 000& 15,500
Ooglold &stdza Al K& 45,000,000& 45,000

SO IE HeEl ol AFMOHS 1,498 1,498 0




A OIS
X

g OtE=X 54
Sol: BRAFE A CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 1,498 1,498 0
01 At 22l 1,498 1,498 0
O8AHH = 150,000& »2H 300
ooz M 16,500& »35& 578
O8==% 60,000& x2& 120
OJIEt 2HES 500,000& 500
FHZANE 2 2,400 2,400 0
307 21201 A 2,400 2,400 0
05 RIZt2IEt = 2,400 2,400 0
OFHZ AL 2l 200,000& »12& 2,400
ESWAL B2 E 2 2,240 2,211 29
201 £B-2dH| 2,240 2,211 29
01 At 22/l 640 611 29
O8==% 60,0003 x3& 180
OESERE Wid E&EY 20,000& x13H 260
O2gES 200,000& 200
03 &Ar2 I 1,600 1,600 0
Oaxdu= 300,000& »2H 600
O=233¢ 500,000& »2&l 1,000
ESUA MM 68,400 68,400 0
307 glz2tol & 68,400 68,400 0
10 AL SXNAIEEE2EH EX 68,400 68,400 0
OBSwAt ML 50,000 *114H 128 68,400
geo2sz XA 2,007,450 2,026,667 A19,217
= 1,505,587
Al 351,304
T 150,559
307 glz2+ol & 2,007,450 2,026,667 A19,217
= 1,505,587
Al 351,304
T 150,559
05 RIZt2IE = 2,007,450 2,026,667 A19,217
OgrotE2sz & 2,007,450,000& 2,007,450
= 1,505,587
Al 351,304
- 150,559
ESWEPA olAH XA 1,523,448 1,504,511 18,937
= 914,069
Al 426,565
- 182,814
307 21201 A 1,523,448 1,504,511 18,937
= 914,069




AR GRS =
X

M. ==
S = =

BEAE 4 (29 & 9)
= - — SHE|
CHE - EI(BA) - NRAY - BYS e Hl D= 2t
Al 426,565
T 182,814
10 ALSISXAIEEE2EHEX ,523,448 1,504,511 18,937
OEsuAA oAH X 1,523,448,000& ,523,448
= 914,069
Al 426,565
- 182,814
s A AY 833,632 973,333 A 139,701
= 625,224
Al 145,886
T 62,522
301 et A= 833,632 973,333 A 139,701
= 625,224
Al 145,886
- 62,522
01 AR 2Z A 353 833,632 973,333 A 139,701
oingegs=< XA 833,632,000 833,632
= 625,224
Al 145,886
T 62,522
SUANE HRML X 350,398 259,632 90,766
= 210,239
Al 98,111
T 42,048
307 glz2tol & 350,398 259,632 90,766
= 210,239
Al 98,111
- 42,048
10 AL SXAIEEE2EHEX 350,398 259,632 90,766
ONE0IE WAt 2REZME X&
210,286,000 210,286
= 126,172
Al 58,880
T 25,234
O0EI0l® EXZ Al o148 X
140,112,000& 140,112
= 84,067
Al 39,231
T 16,814
glo0ld 28X 9,153 9,400 AN 247
= 5,492
Al 2,562
- 1,099
307 glz2tol & 9,153 9,400 AN 247
= 5,492
Al 2,562
- 1,099
10 AL SXAIEEE 2 H EX 9,153 9,400 AN 247




A OIS
X

3 E=EN 88
Sl BRAE By (29l & 2)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
O0eold niw>H X 6,923,000 6,923
= 4,154
Al 1,938
- 831
O0golsd xteE=2dd X& 2,230,000& 2,230
= 1,338
Al 624
- 268
338 Hgold XA 75,520 71,667 3,853
= 45,312
Al 21,146
- 9,062
307 21201 & 75,520 71,667 3,853
=2 45,312
Al 21,146
- 9,062
10 A SAAIEHISSHIEX 75,520 71,667 3,853
O32€ ooy X& 75,520,000& 75,520
= 45,312
Al 21,146
- 9,062
F2 ZUHEH 29 520 3,317 N2, 797
- 260
Al 130
T 130
201 fEt2E | 520 3,317 N2, 797
- 260
Al 130
- 130
01 AtR 22l | 520 3,317 N2,797
ORZ ZUHEH 23 520,000& 520
= 260
Al 130
- 130
FoludE 222 A& 1,601,841 1,564,000 37,841
Al 1,601,841
307 gIz2tol & 1,601,841 1,564,000 37,841
Al 1,601,841
05 22t & =3 1,601,841 1,564,000 37,841
Oty =S8 1,601,841,000& 1,601,841
Al 1,601,841
eIzt - 00l EsudE Si=g A 100,000 98,000 2,000
Al 100,000
307 21201 & 100,000 98,000 2,000
Al 100,000
10 AR SAAEHES2SHIEX 100,000 98,000 2,000




A OIS
X

M IIE=EX &
Sl BEAE B4 (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OoI2t - JIENE0IE ESUWAI EXxE
100,000, 000& 100,000
Al 100,000
SOOI E el ol ExsuA 932 41,000 35,000 6,000
Al 41,000
307 QI2t0| ™ 41,000 35,000 6,000
Al 41,000
10 Al SXAIEEE2IHIEX 41,000 35,000 6,000
OTLEIIMASHE0I Y ESUWAL H2E
41,000, 000& 41,000
Al 41,000
el old #&stsH & S Al X & 10,000 10,347 N 347
Al 10,000
307 212t0| & 10,000 10,347 N 347
Al 10,000
10 M SXNAEEHESIHEX 10,000 10,347 N 347
ONeold ddsts Y 2HAH X
10,000, 000& 10,000
Al 10,000
HEXE ol MHHF2HEH XN 3,000 3,000 0
Al 3,000
307 212t0| & 3,000 3,000 0
Al 3,000
10 AIRIEXAIEEHE2IGHIEX 3,000 3,000 0
OF2XNE Helold XMe2HH 3,000,000& 3,000
Al 3,000
H&OOH gt 222 X3 74 682 A 608
Al 65
- 9
307 QI2t0| ™ 74 682 A 608
Al 65
- 9
10 Al SXAIEEE2IHI X 74 682 A 608
Odl&oor s Eg2 K& 74,000 74
Al 65
- 9
HZHNEHS0E BESRAI S22+ A& 21,600 28,000 A6,400
Al 21,600
307 QI2t01 & 21,600 28,000 AN6,400
Al 21,600
10 Al SEXAIEEE2IHIBX 21,600 28,000 AN6,400
OBNHLORIO0IE SEDA S+22 +¢
21,600,000& 21,600
Al 21,600




A OIS
X

M IIE=EX &

Sl BEAE B4 (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
o2t el o1& 2elA2 2829 72 100 A28

Al 72
307 2Iz2t0| & 72 100 A28
Al 72
10 Al SXAIEEE2IHIEX 72 100 A28
Oor2tojelold EelAa28 &8¢ 72,000 72
Al 72
HEMASE J¥EERE A 3,757 6,000 N2,243
Al 3,757
307 QI2t01 ™ 3,757 6,000 N2,243
Al 3,757
05 QIZtR E 2 3,757 6,000 N2,243
OBHENASES MHHEBEsE A& 3,757,000& 3,757
Al 3,757
228020/ Xl oA A 3,600 3,600 0
Al 3,600
307 212t0| & 3,600 3,600 0]
Al 3,600
10 AIRISEXAIEEHE2IGHIEX 3,600 3,600 0
OZ2380elold T2l orAHdl X&
300,000& x1H x12& 3,600
Al 3,600
012t - JIENE0lE ERWA EJ2502 I3 6,000 8,000 A 2,000
Al 6,000
307 QI2t0| & 6,000 8,000 A 2,000
Al 6,000
AMSEXNAEHE2IH I EX 6,000 8,000 A 2,000
O0I2E JIENE0& EKWA #1252 X
& 6,000,000 6,000
Al 6,000
=M AE JHEgs B2 A& 11,716 0 11,716
Al 11,716
307 QI2t01 ™ 11,716 0 11,716
Al 11,716
05 A2t E = 11,716 0 11,716
Ol e HHEERE 222E2 N
11,716,000& 11,716
Al 11,716
NMAE 0l IHEERE 2222 & 11,517 13,000 A 1,483
Al 11,517
307 QI2t0| & 11,517 13,000 A 1,483
Al 11,517
05 QIZ2tR E 2 11,517 0 11,517




fA: O

g OtE=X 54
Sol: BRAFE A EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMMXEH Ool= Xt 2 R2RE3 XN
11,517,000& 11,517
Al 11,517
20X 0l =c2/& 1At 18,000 0 18,000
Al 18,000
307 gl2tol & 18,000 0 18,000
Al 18,000
10 AL SXAIEEE2EH EX 18,000 0 18,000
OFROXNANEO Lol 2l
18,000, 000& 18,000
Al 18,000
ZHEROIME0IE XIZ A SRl Pals] 4,800 0 4,800
Al 4,800
307 21201 A 4,800 0 4,800
Al 4,800
10 M2 SXNANEHES2IHEX 4,800 0 4,800
OZME RO XNEA 2R3 ML
4,800,000 4,800
Al 4,800
XN BEFUAN SX+E 7,000 0 7,000
Al 7,000
307 21201 A 7,000 0 7,000
Al 7,000
10 M3 SXAEEEH 22X 7,000 0 7,000
OZRNEN0E EFnA SX=&
7,000,000& 7,000
Al 7,000
OEold JIsE2d Atg 30,000 0 30,000
402 RI2FXt20l ™ 30,000 0 30,000
01 2IZt Xt 2 AL E = (REM &) 30,000 0 30,000
oogold Jls: 30,000,000& 30,000
LosXNsd 24,450,322 23,143,699 1,306,623
= 18,771,820
Al 4,894,376
- 784,126
MO L2AS BEF 19,121,653 18,737,088 384,565
= 17,126,238
Al 1,790,124
- 205,291
SOUEL QAN KA 77,500 73,600 3,900
Al 77,500
301 et A3z 77,500 73,600 3,900
Al 77,500
01 AR 2Z A5l 3 77,500 73,600 3,900




AN &8Iz
By Lo=xEd
el OFHO LEAS PE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ORJGLoANN JEFAES N
50,000 «775H x23| 77,500
Al 77,500
MASsS oM HEEES XA 15,000 1,440 13,560
301 et A= 15,000 1,440 13,560
01 AISIE & A 252 15,000 1,440 13,560
ONAS LOMM 22 . BI2YLH2 X8
1,250,000& x12& 15,000
=32 X=2 19,029, 153 18,662,048 367,105
= 17,126,238
Al 1,712,624
- 190,291
301 et A= 19,029, 153 18,662,048 367, 105
= 17,126,238
Al 1,712,624
- 190,291
01 Al E& A %52 19,029, 153 18,662,048 367,105
OJl=d=2 19,029, 153,000 19,029, 153
= 17,126,238
Al 1,712,624
- 190,291
ALGD BELE LEME B 663,766 593, 177 70,589
= 310,468
Al 353,298
MASMMIIE=Ql AAIHHE 124,811 124,811 0
Al 124,811
307 2iz2to| & 124,811 124,811 0
Al 124,811
11T A EXAIEEX 124,811 124,811 0
OMAEMIILQ AAN BHE 124,811,000 124,811
Al 124,811
FEAY LRI AMNY 85,498 85,498 0
Al 85,498
307 gizto| A 85,498 85,498 0
Al 85,498
11T A EXAIEEX 85,498 85,498 0
OZzAY g A AY 85,498,000 85,498
Al 85,498
COSEIZAHIAALXIR(XIH) 261,818 215,664 46, 154
= 183,261
Al 78,557
307 212t0| ™ 261,818 215,664 46,154
= 183,261
Al 78,557




2N

Hu: Los=
2

el AABD BEYE LEME 9F CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
11T A EXAIEEX 261,818 215,664 46,154
Oross8JlIsAMdlA Al 261,818,000 261,818
= 183,261
Al 78,557
LO=ESSS8SAMEIAAMNGIRA 156,230 135,567 20,663
= 109,364
Al 46,866
307 QI2t0| ™ 156,230 135,567 20,663
= 109,364
Al 46,866
11T A EXAIEEX 156,230 135,567 20,663
O =S AMHIAANSE KR 156,230,000 156,230
= 109,364
Al 46,866
SO JIAFA BT A AT X 669 890 N221
2 473
Al 196
307 212t0| & 669 890 A 221
= 473
Al 196
11 A EXAIEEX 669 890 N 221
OCE I IAFABIAASE K& 669,000 669
2 473
Al 196
SHEQ SSHMNO sz LS MHHA 2N 34,740 23,587 11,153
= 17,370
Al 17,370
307 2iz2to| A 34,740 23,587 11,153
= 17,370
Al 17,370
11T AISIEXAIEEX 34,740 23,587 11,153
OSHLO ESSHMO Ss3HMLSEMHEA 2
AR 34,740,000 34,740
= 17,370
Al 17,370
OHMGID ED|& =FSMED|E X4 4,619,725 3,768,321 851,404
= 1,294,454
Al 2,746,436
- 578,835
A2 AN X & 12,465 9,755 2,710
201 Bt 4,565 3,805 760
03 A2 G| 4,565 3,805 760
O100Ml A H=H H=Z= A} 3,565
o & 408t 80,000& *5JH 400
oR2EE % OHE 3,000,000& 3,000

_13_




SAD SIS
By Lo=xEd
SOl QHAGHD EIIE CSMEIIE X4 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
olLQlo & U A2 & JIEA S2I Al
Af 16,500 x10H 165
O H2AI € J|EA S AU
500,000 =2CH 1,000
301 LBt A= 7,900 5,950 1,950
09 HAIAHI EAZ 7,900 5,950 1,950
O100Ml AH=H H=Z A} 6,900
oXFHE YA 400,000& x10& 4,000
o AFB| AFE Ab 400,000 1 400
oS Al EHA EHY HA 5,000 x500H 2,500
O HZ=gAI L JIEAS SANEHIL XS
5,000& x200H 1,000
Lolgxiel & ASIE2ESKE = 2,556,654 1,861,258 695,396
= 1,278,327
Al 1,278,327
307 QI2t0| ™ 2,556,654 1,861,258 695, 396
= 1,278,327
Al 1,278,327
05 QIZtREZ 2,556,654 1,861,258 695, 396
OLQIATEIAIS (LQIAIE =32)
2,556,654,000& 2,556,654
= 1,278,327
Al 1,278,327
Lolglat 89 82,600 50,600 32,000
Al 12,000
5 70,600
307 QI2+0 & 62,600 50,600 12,000
Al 12,000
5 50,600
10 A SXNANEEHESIHEX 57,800 45,800 12,000
OUst s s X3 EXNAE XS 27,800
ofgt o3 ESFXS 2HHbI
2,250,000& ~12& 27,000
o0 NRI HAI2EF & W=H|
100,000& »8H 800
Otist-olgs| s A3 AIR=2& olA4H]
2,500,000 ~12& 30,000
Al 12,000
- 18,000
11T AISIEXAIEEX 4,800 4,800 0
otgtLogsx2Xg T2 )8 24H XA
400,000 ~12& 4,800
401 AlEHI 2L 2 0HY| 20,000 0 20,000
01 Al&H| 20,000 0 20,000
OLolg 2 g Al 20,000,000 20,000




M HEIIED
M col=Ed
Sl OEGtD BIIE LRuIE X4 (29l 8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Lo=ia 24 1,061,556 992,046 69,510
Al 734,386
- 327,170
307 gl2tol & 1,061,556 992,046 69,510
Al 734,386
- 327,170
10 M3 SXNANEHIS2IHEX 1,061,556 992,046 69,510
Ok =Xa 249l 600,860,000 600,860
Al 420,602
- 180,258
O =X2a M3 SHEM A 24,770,000 24,770
Al 24,770
Oko=ia 22 29| 397,706,000& 397,706
Al 278,394
T 119,312
OLo=Xa 22 SHEMA 10,620, 000& 10,620
Al 10,620
ORIZAFBIZ X AF MW &
100, 000& 23 «12& 27,600
229 29 & 95,560 96,317 AT57
Al 43,680
- 51,880
307 21201 A 85,160 91,817 26,657
Al 43,680
- 41,480
10 M2 SXNANEHE2IHEX 85,160 91,817 26,657
ozod 29 XA 85,160
o2dHl 64,960,000 64,960
Al 28,800
- 36,160
Sh=a=sl 16,600, 000& 16,600
Al 12,480
T 4,120
o ety 3,600,000& 3,600
Al 2,400
T 1,200
405 XHobE S HI 10,400 4,500 5,900
01 AL EFH S 10,400 4,500 5,900
O'Zod dXHHS 10,400
oWd 1,000, 0002 »4CH 4,000
=TV 900,000& = 1CH 900
o ZI| 50,0003 2 CH *3204 & 3,200
o HitE | 1,000, 000& »2CH 2,000
o It AEK] 300, 0002 = 1CH 300
2 3=z A& 4,500 4,000 500




M 08I ED
By Lo=xEd
CHel: OHMGHD DI 2 ME)|g 24 (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Al 750
- 3,750
301 LBt A= 4,500 4,000 500
Al 750
- 3,750
01 Al E & A 462 4,500 4,000 500
QHEE (M , =64F)82Y X2 4,500,000 4,500
Al 750
- 3,750
Ad2E=3Tz ) 2| X BHXI A 34,118 33,666 452
Al 17,059
5 17,059
307 QI2t0| ™ 34,118 33,666 452
Al 17,059
- 17,059
10 Al EXNAEEHE2IGHEX 34,118 33,666 452
OFzGEsT2IY HalX X AL
34,118,000 34,118
Al 17,059
- 17,059
ZEYE LAY 16,850 20,000 ~3,150
Al 16,850
307 QI2t0| ™ 16,850 20,000 A 3,150
Al 16,850
10 A SAANEEHESIHEX 16,850 20,000 A 3,150
OZz Y E43AY 16,850,000& 16,850
Al 16,850
TH It 01 = X At e 343,356 322,641 20,715
Al 340,956
- 2,400
307 212t0| & 343,356 322,641 20,715
Al 340,956
- 2,400
11 A EXAIEEX 343,356 322,641 20,715
ORI X HHIAHH 113,652,000 113,652
Al 113,652
OdMzs o2 X Al g 113,652,000 113,652
Al 113,652
OLEE L2 AH 113,652,000 113,652
Al 113,652
OSFLUEXHME CIZEAISIE XA LM A
50,0008 x4 x12& 2,400
A2 G dukBiyl 2 2=2H| X & 64,508 42,300 22,208
= 16,127
Al 32,254
- 16,127




U
=1

:

eH2
2 e ox
Ju
[
Ol
pal

ot EJ|& =MEIBt =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 64,508 42,300 22,208
= 16,127
Al 32,254
- 16,127
10 ALl SXAIEEE2EH EX 64,508 42,300 22,208
OZ=2% ditehyl & 25=2Hl N2 64,508
ocdz24Y S&ED| Hedl A& 48,000,000 48,000
= 12,000
Al 24,000
T 12,000
oZ2Y HRLIXZAY 10,508,000& 10,508
= 2,627
Al 5,254
- 2,627
odZE Wedl X3 6,000,000 6,000
= 1,500
Al 3,000
- 1,500
J2EY S3ME A 19,300 19,000 300
Al 4,300
- 15,000
401 A& HI K 201 I 19,300 19,000 300
Al 4,300
- 15,000
01 A& HI 19,300 19,000 300
OZzY &3 L Jf - 24 19,300,000 19,300
Al 4,300
- 15,000
M2z ZHAA X (=YX HE 2 13,430 5,000 8,430
i)
Al 5,000
- 8,430
307 21201 A 13,430 5,000 8,430
Al 5,000
- 8,430
05 BIZERI & 3 13,430 5,000 8,430
OM=T2 SZUMAZE AlHl X (LolUXt
cIXEMEEE) 5,000,000 5,000
Al 5,000
OLoAReXNAME S22l N
8,430,000 8,430
AlLIEE 24 278,508 263,376 15,132
Al 234,404
2 44,104
307 21201 A 278,508 263,376 15,132
Al 234,404
2 44,104




SN HAED
Mo LoI=XEX
Ctel: otdotll 0| S=dE)|g =4 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
10 M3 SXNANEHI2IHE=S 278,508 263,376 15,132
oALnZY 29 274,908,000& 274,908
Al 234,404
- 40,504
OSTFAUNZY UAMII=XA A&
50,000 x6H » 128 3,600
LOZEXNAE BEALN EXNFE 27,120 26,400 720
Al 25,920
T 1,200
307 21201 A 27,120 26,400 720
Al 25,920
T 1,200
11T MISAASEX 27,120 26,400 720
O =EXNAE SAA SX==&
60,0003 x36H x12& 25,920
Al 25,920
OLZEAS = XA HRIHA 50,0002 x2H <123 1,200
SAHD APY T 2el 6,500 6,500 0
201 Let24d] 2,000 2,000 0
01 At 22l 2,000 2,000 0
ORdD AMZX 202 1,000, 000& *23| 2,000
301 LEtE A= 4,500 4,500 0
01 A3l EE E 56l 3 4,500 4,500 0
ORd AFY X &2l 750,000 *6+ 4,500
Z2Y A MAEE XA 550 825 A275
Al 550
201 et 550 825 A275
Al 550
02 23224l 550 825 A275
OZ2g oA MAH X 550,000& 550
Al 550
J2E HHAXMAESH 1,000 1,000 0
307 21201 A 1,000 1,000 0
06 283 1,000 1,000 0
OZ2Y HaMAZE 1,000, 000& 1,000
CEHETE 29 1,150 1,150 0
201 LB-2E| 1,150 1,150 0
01 At 2t 2l 1,150 1,150 0
OHZUHEEZANNE/AE S8
70,0003 x7H +13] 490
ORIZPIE MARHE (LSNP L 22) &
MG 70,0003 x4« 13| 280




2N

Hu: Los=
o

|57
Ctel: otdotll 0| S=dE)|g =4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Obolgdnang dosias 3A+9
70,0003 x4 x13] 280
OfIdal & JIEt2gHl 100,000& 100
HASES MEtFXA 45,178 45,113 65
= 40,660
Al 4,518
MAZH (M) 45,178 45,113 65
= 40,660
Al 4,518
307 glz2+ol & 45,178 45,113 65
= 40,660
Al 4,518
10 ALSISXAIEHE2EHEX 45,178 45,113 65
OMAZO(AIHE) 45,178,000 45,178
= 40,660
Al 4,518
ots - a8 25 =4 2,431,759 2,203,843 227,916
= 1,348,199
| 700
Al 789,217
- 293,643
Ots =Xl & 2,047,363 1,809,635 237,728
= 1,229,217
Al 679,628
- 138,518
Ots =X K& 3,400 3,400 0
201 Let24d] 1,400 1,400 0
01 At 22l 1,400 1,400 0
OltssSAl?ds a4x=2 70,0008 +8H*13] 560
OOlE=XAAANS HH+T
70,0003 x6H #23| 840
401 Al HI K 201 I 2,000 2,000 0
01 A& HI 2,000 2,000 0
O0elol=0lAld =001 &Hl 2,000,000 2,000
IrERE 2= & 27,000 27,000 0
Al 27,000
301 L2 A= 27,000 27,000 0
Al 27,000
01 MEIBEZE+06l= 27,000 27,000 0
OJNEAEL XA 27,000,000& 27,000
Al 27,000
A2EAHINE - JHE RG0S UE K& 15,000 15,000 0
Al 15,000
301 et a = 15,000 15,000 0
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- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
Al 3,000
. estE Ols24 A 206,748 280,350 NT73,602
Al 155,061
- 51,687
301 LBt A= 206,748 280,350 NT73,602
Al 155,061
- 51,687
01 AISIE & A 452 206,748 280,350 NT73,602
OB - g%stxs ols34A N 206,748,000 206,748
Al 155,061
5 51,687
2. 252 ols24 XA 44,782 58,863 A 14,081
Al 44,782
301 et A= 44,782 58,863 A 14,081
Al 44,782
01 Al B & X 462 44,782 58,863 AN 14,081
OE ¥ -5 0tls=24 XI& 44,782,000& 44,782
Al 44,782
Ols &< XI & H = 33,479 33,479 0
2 23,435
Al 10,044
301 et A= 33,479 33,479 0
= 23,435
Al 10,044
01 Al E&E A 2623 33,479 33,479 0
OtseI A& AHX XS 33,479,000 33,479
= 23,435
Al 10,044
NEotsHE 224 X& 222,960 223,872 N912
= 111,480
Al 111,480
307 2Iz2to| A 222,960 223,872 AN912
= 111,480
Al 111,480
10 MM SXAANEEHESIGHEX 222,960 223,872 AN912
OXY0tsHdH J229H X
222,960,000 222,960
= 111,480
Al 111,480
£y XAOISHE =X 14,616 22,084 7,468
= 7,308
Al 7,308
307 2Iz2t0| & 14,616 22,084 AT ,468
= 7,308
Al 7,308




- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
11T A EXAIEEX 14,616 22,084 N7 ,468
SosNg NHOISME ZIA
14,616,000 14,616
= 7,308
Al 7,308
EL2Y NY90tsHE F=IOIHX& 7,296 8,822 N 1,526
2 3,648
Al 3,648
307 2Iz2t0| A 7,296 8,822 N 1,526
2 3,648
Al 3,648
11T AISIEXAIEE X 7,296 8,822 N 1,526
OER2Y NY90tsHE =X
7,296,000 7,296
2 3.648
Al 3,648
e=XNY90tsHdEe X 9,914 9,312 602
= 4,957
Al 4,957
307 2Iz2t0| & 9,914 9,312 602
2 4,957
Al 4,957
11T A EXAIEEX 9,914 9,312 602
ORF=XN20ot=sHdH K& 9,914,000 9,914
2 4,957
Al 4,957
NEOotsHE ZMAd X 10,000 0 10,000
= 5,000
Al 2,500
- 2,500
307 giztol & 10,000 0 10,000
= 5,000
Al 2,500
- 2,500
11T AISIEXAIEEX 10,000 0 10,000
OX<E0otsHdHe &H&H XI& 10,000,000 10,000
= 5,000
Al 2,500
- 2,500
X SotSHE X 39,615 43,576 ~3,961
Al 34,815
- 4,800
201 et d| 1,319 564 755
Al 1,319
01 At 2l 1,319 564 755
OsS&MIIIE 29| 1,319,000 1,319
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SSX g4t (&2 &)
M. 0 (3H) - HEAY - B2 ﬁlf& HD=2
Al 1,319
307 QI2t0| & 38,296 43,012 N4, 716
Al 33,496
- 4,800
11 AMISAAEE X 38,296 43,012 N4,716
OXSH0otSHE S3ts 29X 7,800
o(OlAESHE 7,800,000& 7,800
Al 7,800
OXNYotsHE AN HR2MA8]
16,092,000& 16,092
Al 16,092
OXNotsHH T2 X& 7,492,000 7,492
Al 7,492
OH ek 319,000& =44 A~ 1,276
Al 1,276
OXNSOotsHE WA K& 209,000 & x40 A 836
Al 836
OXEotsHdE CIEAISIEXIAF M
50,000& 8 »12& 4,800
S2X DA IA(EX) 49,224 70,610 N21,386
= 23,262
Al 23,262
- 2,700
101 2121 4| 49,224 70,610 N21,386
= 23,262
Al 23,262
- 2,700
04 JI2ZtHI22XNSE S 49,224 70,610 N21,386
OOIS =X DA 21t X 46,524,0002 46,524
= 23,262
Al 23,262
O0l=sEX DA HR2MEE=H 2,700
o=SXEQE 300,000 *3H *13] 900
CHEMNDB 300,000 *3& 23| 1,800
Ba0ls 088 29 (EX) 82,335 71,022 11,313
= 32,934
Al 49,401
307 QI2t0| & 82,335 71,022 11,313
= 32,934
Al 49,401
10 Al SXAIEEE2IHIEX 82,335 71,022 11,313
O3sMEIE 29 XN& 82,335,000& 82,335
= 32,934
Al 49,401
H30ts 088 XN 14,053 14,550 N497
Al 12,253
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A OIS
P

M Ots - E4AE Bs 84
Sl OIS =X B4 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- 1,800
307 glz2tol & 14,053 14,550 AN497
Al 12,253
- 1,800
11T MISXASEEX 14,053 14,550 AN 497
O0Ess0ts HdEsE AT 4,688,000 4,688
Al 4,688
OOEE BANAN =X=xE 6,600,000& 6,600
Al 6,600
O0gs erd el 965,000 965
Al 965
OOEE UMM H2HL
50,000 x3H » 128 1,800
FAHNES OlsSSAMH A X 101,685 219,000 A 117,315
= 97,685
T 4,000
201 2yt 2 Y| 95,885 117,937 ~22,052
= 91,885
= 4,000
01 At 22l I 91,885 113,937 A 22,052
OEd - =X -EsZ208 22
83,000,000& 83,000
= 83,000
OEEAEE Ag2el2gH & 8,885,000& 8,885
= 8,885
02 =224l 4,000 4,000 0
OEYAEENH 22323 S 4,000,000& 4,000
202 o4l 5,000 9,000 A 4,000
= 5,000
01 = LH o4 1l 5,000 9,000 A 4,000
OEHAEBEMY =& 0Hl 5,000,000 5,000
= 5,000
405 XtAtE SHI 800 0 800
=2 800
01 AR ESFH S 800 0 800
OEHAEBEdH HNA HRE AKX
200,000& =44 800
= 800
ots=¢ 1,127,252 677,395 449,857
= 901,815
Al 157,806
- 67,631
301 et &2 1,127,252 677,395 449,857
= 901,815
Al 157,806
- 67,631
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fA: O

HotE D

HH: Ol - HAW 25 84
Ee: Ols==S X sHat (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
01 Al E & A 452 1,127,252 677,395 449,857
Oootszs¢ 1,127,252 ,000& 1,127,252
= 901,815
Al 157,806
- 67,631
ot XNANMAY 29 304 0 304
= 213
Al 91
201 et Y| 304 0 304
= 213
Al 91
01 AP 2t 2] H| 304 0 304
Oltss+2 XNAMAMY 29 304,000 304
= 213
Al 91
BSE=0s MY 5,400 0 5,400
= 4,320
Al 1,080
301 LBt A= 5,400 0 5,400
= 4,320
Al 1,080
01 AISIE & A %52 5,400 0 5,400
OEBEss=0ls MHEg2Y 5,400,000& 5,400
= 4,320
Al 1,080
HAo4d BssMd 32,272 21,580 10,692
= 11,906
Al 6,653
- 13,713
HAUE NS 8,460 7,860 600
201 LBt 9| 7,160 6,560 600
01 AP 22| H| 7,160 6,560 600
OFAadE 4 EES 1,130
ocEHEE 900& 5000 x2= 900
odl 4ot 80,000 = 10K 80
o K 5,000 =300H 150
OFAaUds &3 7,300 %100 730
OFAELESAH EEZ 1,000& 50000 x 1= 500
OFAELSoA 2 g ZAIE
300,000& *5J4 12 1,500
oY 9 ¥ =51at= 2,000 x500H 1,000
OFAEKJG HFAH 70,000& 10 23| 1,400
OO0 - 3A4EQ3 92 HHA & oz 292
= 7+¢ 900,000& 900
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AN GEIEY
M Ots - E4AE Bs 84
ol Al 5S4 (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 1,300 1,300 0
12JEEd=S 1,300 1,300 0
OFAERNEZ MIETAS 50,000& 624 300
OHAURNHEY NEHESH
20,0003 *25H 23| 1,000
HAERMSE 2AY XA (XH) 2,800 2,800 0
= 1,400
Al 1,400
307 glz2tol & 2,800 2,800 0
= 1,400
Al 1,400
11T MISRASEX 2,800 2,800 0
OFAaY Roflgd He X&
2,800,000 14 & X 2,800
= 1,400
Al 1,400
FaE A2 XN ALY 21,012 10,920 10,092
= 10,506
Al 5,253
T 5,253
301 et d = 21,012 10,920 10,092
= 10,506
Al 5,253
- 5,253
01 MEIBEZE 06z 21,012 10,920 10,092
OMASE HEdEAE AMES XE
21,012,000& 21,012
= 10,506
Al 5,253
T 5,253
dA4aH Fstgs XA 352,124 372,628 A 20,504
= 107,076
J| 700
Al 102,936
T 141,412
Fad 252% 249 & 116,802 113,400 3,402
307 glz2tol & 116,802 113,400 3,402
05 RIZHRI & 3 116,802 113,400 3,402
OFAYUISE 29| 116,802,000& 116,802
A48 239 E =4 4,300 26,900 A 22,600
405 TtobF S 4,300 4,900 A 600
01 AL EZFH S 4,300 4,900 A 600
OFAEUEsY 35 & - &I A4 WH
4,300,000& 4,300

_26_




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HadE 20E 02t00 2SS (X&) 151,532 150,238 1,294
2 75,766
Al 75,766
307 gl2tol & 151,532 150,238 1,294
= 75,766
Al 75,766
11T AIS S RAEE = 151,532 150,238 1,294
OHAE %S 013tH0 2% X
151,532,000& 151,532
2 75,766
Al 75,766
HAE X AF BRI X (X&) 22,320 21,840 480
2 11,160
Al 11,160
307 21201 A 22,320 21,840 480
= 11,160
Al 11,160
11 ALS S XALEE = 22,320 21,840 480
O&aE XA BIXI XI& 22,320,000 22,320
= 11,160
Al 11,160
SBEHLE AL Z20H2F XA (XNH) 9,800 5,000 4,800
= 1,400
Al 1,400
T 7,000
307 glz2tol & 9,800 5,000 4,800
= 1,400
Al 1,400
T 7,000
11T MISRASER 9,800 5,000 4,800
O&AE 2gAd T2y 22
9,800,000& 9,800
= 1,400
Al 1,400
T 7,000
ANEdEAE 072 2E(EX) 2,000 2,000 0
= 1,000
Al 1,000
307 glz2+ol & 2,000 2,000 0
= 1,000
Al 1,000
11T MIZSXASEEX 2,000 2,000 0
OFAYE 8 AL 2Z2A3 24X
2,000,000& 2,000
= 1,000
Al 1,000
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28 25 4
a4 2ags N (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
Fad ol20tY XA (X 20,500 29,750 A9,250
= 8,200
Al 6,150
- 6,150
201 £B-2dH| 1,000 1,000 0
= 400
Al 300
- 300
01 At 22l 1,000 1,000 0
ON=80tY F2Ex sotel &8 A=
g 70,0003 x3H 210
2 84
Al 63
T 63
OsE2ES M 790,000& 790
= 316
Al 237
- 237
307 21201 A 19,500 28,750 A9,250
= 7,800
Al 5,850
T 5,850
11T AISI S XA E X 19,500 28,750 A 9,250
O&AYE HEE0tg 19,500, 000& 19,500
= 7,800
Al 5,850
- 5,850
a4 s0tel N3 23,870 22,500 1,370
= 9,550
Al 7,160
- 7,160
307 gl2tol & 23,870 22,500 1,370
= 9,550
Al 7,160
- 7,160
11T M SXASE EX 23,870 22,500 1,370
O&Ead sotel XA 23,870,000 23,870
= 9,550
Al 7,160
- 7,160
dAa4E SR 1,000 1,000 0
J| 700
Al 300
301 L2 A S 1,000 1,000 0
J| 700
Al 300
01 MEIBEE 253 1,000 1,000 0
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AR GRS =
&

M Ots - E4AE Bs 84
el a4 2atgs R (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORENS, AZNAES BAE s2A 4
1,000,000 1,000
J| 700
Al 300
ZoHe =SS5 3,604,434 2,797,546 806,888
= 2,120,917
Al 1,443,531
- 39,986
e =XsH 3,604,434 2,797,546 806,888
= 2,120,917
Al 1,443,531
- 39,986
oo A A 2,728 10,560 AT,832
201 Let24dH] 2,728 1,560 1,168
01 At 22/l 2,728 1,560 1,168
OFMAXNSIHERN 2 800& x700H 560
OHMHAEEF=INTH EE2ES Y
1,000, 000& 1,000
OFMAAIMNH W= 200,000& x13] 200
OSSEM ST XZA SEHI
8,000 » 12 x84 768
OAHBZAL E2MH & AR22ld] 200,000& 200
FOIXIGHo 228 AE X & 30,863 26,300 4,563
Al 25,563
- 5,300
307 gl2tol & 30,863 26,300 4,563
Al 25,563
- 5,300
10 AL SXNAIEEE2EHEX 30,863 26,300 4,563
OZOMAXAHL 22XHIH &
30,863,000 30,863
Al 25,563
T 5,300
=& X= 204,260 200,000 4,260
= 142,982
Al 61,278
301 gt d= 204,260 200,000 4,260
= 142,982
Al 61,278
01 MI2ZE 6= 204,260 200,000 4,260
OX=% X2 204,260,000 204,260
= 142,982
Al 61,278
Zo=g(ta?) X3 99,601 110,000 A 10,399
= 69,721
Al 29,880
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SH: KIS
Hu: ool 2N

ool Zoje =2XSE EERED
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
301 gt L= 99,601 110,000 A 10,399
= 69,721
Al 29,880
01 MEI2EZE 45z 99,601 110,000 A 10,399
OXH= (X&) X2 99,601,000& 99,601
= 69,721
Al 29,880
ZOofe Mg 53,000 55,000 A 2,000
Al 53,000
301 B A3 53,000 55,000 ~2,000
Al 53,000
01 MEIBEE 2053 53,000 55,000 A 2,000
OXZOHel Me=< 53,000,000& 53,000
Al 53,000
Zopel ozHl XN 49,975 60,000 210,025
= 39,980
Al 9,995
308 XXl EHH SOl A 49,975 60,000 210,025
= 39,980
Al 9,995
1037/ 2S0HUHeFHHEAEALS HI 49,975 60,000 210,025
O&oel o=zt 49,975,000& 49,975
= 39,980
Al 9,995
HAsSEe ML 2 ZAH XI& 1,200 1,300 A 100
= 600
Al 600
301 gEtE A= 1,200 1,300 A 100
= 600
Al 600
01 MEIEBEZE+05l= 1,200 1,300 A 100
OMASZEOHR AEHH 2 HAH XI&
1,200,000& 1,200
= 600
Al 600
HojEEIT DY 2,391 2,697 ~306
2 1,913
2 478
301 g2 4= 2,391 2,697 A 306
= 1,913
2 478
01 MI2EZE 406z 2,391 2,697 A 306
OFofel Ha EXI+ 2,391,000& 2,391
= 1,913
=! 478
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2N

GRS

M Dol =2XNEA
& Hoe 258 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oo F=2AEBsAE 28 N& 93,062 86,710 6,352
Al 93,062
307 gl2tol & 93,062 86,710 6,352
Al 93,062
10 AL SXNAIEEE2EH EX 93,062 86,710 6,352
OFOel =2AHESAIE olAH| 81,062,000& 81,062
Al 81,062
OO =AESAIE 23|
1,000,000& »12& 12,000
Al 12,000
ZOHAAATHEANE 29 X& 197,082 190, 101 6,981
Al 197,082
307 glz2tol & 197,082 190, 101 6,981
Al 197,082
10 ALSISXAIEEE2EH EX 197,082 190, 101 6,981
OXOHQ AATHEAIL 21248 157,810,000& 157,810
Al 157,810
OOl HIMEAE 2HHI| 19,704,000& 19,704
Al 19,704
OFOel HAMEAIE S4lH| 19,568,000& 19,568
Al 19,568
Zojel =20 X2 1,315,901 600,000 715,901
= 921,130
Al 394,771
307 21201 A 1,315,901 600,000 715,901
= 921,130
Al 394,771
05 RIZt2IEt = 1,315,901 600,000 715,901
O&oe X0 N&  1,315,901,000& 1,315,901
= 921,130
Al 394,771
O ESKNIAAY 29 2,480 2,480 0
201 £B-2dH| 2,480 2,480 0
01 At 22/l 2,480 2,480 0
O I =4 70,0003 x2H 123 1,680
OMSII& XNE &AAE =&
70,0003 x5H »23] 700
OfRFEEFY S ARSI 100,000& 100
ZOHESKA AlHIZ=IHXIA 61,978 55,000 6,978
Al 61,978
307 21201 A 61,978 55,000 6,978
Al 61,978
05 RIZt2IEt = 61,978 55,000 6,978
O ESX& AlEIZ=ILX&  61,978,000& 61,978
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SH: OEISD
HE: Zoje =SXNEA

el Zojel =2XEH (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 61,978
s SH X= 973,334 900,000 73,334
= 681,334
Al 292,000
301 gtE L= 973,334 900,000 73,334
= 681,334
Al 292,000
01 MI2EZE 6= 973,334 900,000 73,334
OFeldza S X2 973,334,000& 973,334
2 681,334
Al 292,000
ZOHQI L Xtel X2 (Lot Xtel) 223,460 249,718 N 26,258
= 111,730
Al 111,730
301 et A= 223,460 249,718 N 26,258
= 111,730
Al 111,730
01 M3IBZE 063 223,460 249,718 A 26,258
OFoHoldRte| X & (eergdxtel)
223,460,000 223,460
2 111,730
Al 111,730
TNl Xel K& (Al 2FH L Krel) 55,896 38,416 17,480
= 27,948
Al 27,948
301 et a = 55,896 38,416 17,480
2 27,948
Al 27,948
01 MEIBZE 06z 55,896 38,416 17,480
ORI X (A2AH LR 2)
55,896,000 55,896
= 27,948
Al 27,948
ZoNolg el NE (SR LRtal) 110,880 81,648 29,232
2 55,440
Al 55,440
301 et d = 110,880 81,648 29,232
= 55,440
Al 55,440
01 MEIBEZE 06z 110,880 81,648 29,232
OFML LRl X2 (SXLAtel)
110,880, 000& 110,880
= 55,440
Al 55,440
LEMEAEA HRXH K& 69,104 66,000 3,104
= 48,372
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SH: OEISD
HE: Zoje =SXNEA

el Foje 2XEA (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 20,732
307 glz2tol & 69,104 66,000 3,104
= 48,372
Al 20,732
05 RIZHRIEt 3 69,104 66,000 3,104
OLEMaMtl A BRH XIS 69,104,000 69,104
= 48,372
Al 20,732
HHLERH B2H XA 2,193 1,200 993
= 1,535
Al 658
307 21201 A 2,193 1,200 993
= 1,535
Al 658
05 RIZt2IEt = 2,193 1,200 993
OdggXd 2™ XA 2,193,000 2,193
= 1,535
Al 658
oS SXAY X& 26,000 23,000 3,000
307 gl2tol & 26,000 23,000 3,000
11 AL S XAEE = 26,000 23,000 3,000
OFoel =XIAg X2 20,000,000& 20,000
OFO &AL XI& 6,000,000 6,000
HHEZMe S4HEXA 4,000 4,000 0
= 2,800
Al 1,200
301 et A= 4,000 4,000 0
= 2,800
Al 1,200
01 AR 2Z A 53 4,000 4,000 0
OW4Ze sS4 EXA 4,000,000& 4,000
= 2,800
Al 1,200
ZOHUILE SMXEASXE 3,000 0 3,000
301 gt L= 3,000 0 3,000
01 Ml2ZE 05z 3,000 0 3,000
OFMIIE SLRNASAEA 3,000,000& 3,000
LIS RN 500 708 A 208
= 350
Al 150
307 glz2+ol & 500 708 A 208
= 350
Al 150
05 RIZt2E = 500 708 A 208
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SH: OEISD
HE: Zoje =SXNEA

Sl FOHY =SXBA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZZHM F2A4HXH 500,000& 500
= 350
Al 150
LI FAESMHUAXNR 11,293 0 11,293
= 7,905
Al 3,388
307 21201 A 11,293 0 11,293
= 7,905
Al 3,388
05 212t E = 11,293 0 11,293
ORIl FAUHSMHHAXE
11,293,000& 11,293
= 7,905
Al 3,388
g ghsSSAHEAXRA 10,253 0 10,253
= 7,177
Al 3,076
307 glz2+ol & 10,253 0 10,253
= 7,177
Al 3,076
05 RIZt2IE = 10,253 0 10,253
Oggae &s ssAHMUAXRA
10,253,000& 10,253
= 7,177
Al 3,076
HHE2LZH(HEIIED) 208,794 66,279 142,515
= 112,781
Al 12,466
T 83,547
JlE &3l 66,879 66,279 600
A= ZHl 66,879 66,279 600
201 ¢er24| 9,639 9,639 0
01 At 22l 9,639 9,639 0
ORM2Y JlE2+8H| 279,000 »17H 4,743
OJlege+8 S&dl 8,000& 34«17 ~12& 4,896
202 O4dl 53,040 53,040 0
01 = LH 4 Hi 53,040 53,040 0
OJlege=8d ol 260,000& 178 «12& 53,040
203 R =&l 4,200 3,600 600
04 FN2ELSZ=TH| 4,200 3,600 600
ORMZH2H 350,000 122 4,200
el 2 141,915 0 141,915
= 112,781
Al 12,466
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M 08I ED
= HE2GFU (WAL=
Sel: o2y (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
- 16,668
OtsS S Atel &2l At o1& 2ZH| 100,315 0 100,315
= 100,315
101 @14 Hl 100,315 0 100,315
= 100,315
03 RIAHAZZ2 T2+ 100,315 0 100,315
OOt= S &t Atell 22l A 1 HEI(4HE2E S Z§)
100,315,000& 100,315
= 100,315
OtsSE At 2l Al MM A 11,640 0 11,640
101 14 Hl 11,640 0 11,640
03 RIHAZ 22+ 11,640 0 11,640
OO0ts S At 22l At HE FOH
2,000,000& *60%*3H »23| 7,200
OO0tsS S E At 22l At U Z A
90,0003 x3H 128 3,240
O¢xRESFII==E 80,000 »3H x5 1,200
Ots=X WA 218 2FH| 26,432 0 26,432
= 12,466
Al 12,466
T 1,500
101 @144 dl 26,432 0 26,432
= 12,466
Al 12,466
- 1,500
03 RIAHAZ 2B+ 26,432 0 26,432
OOtSSXI WA (KD ASISXIAL) 2148 K&
24,932,000 24,932
= 12,466
Al 12,466
OO0S=EXIRAHXI S ASI S XIAL) &0 U
1,500, 000& 1,500
Ots=XN WAL XM 3,528 0 3,528
101 14 Hl 3,528 0 3,528
03 RIAHAZ 2T E =+ 3,528 0 3,528
OOts=X WA HE FOtHl
1,746,000 » 1 *60%*23| 2,096
OO0tS =X AL BAHZAHl 90,0002 «1H*123] 1,080
OO0ts= X WAt AJHE & H| 352,000& 352

_35_




